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S from
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il from
12 from

i3 from

import Document

shared isport RGSColor

enum, text import WD _COLOR_INDEX
cxml.ns isport nsdecls

cxml import parse_xmi

shared isport Cm, Inches
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S table = document.add_table(l, 3, style="Table brid’)

heading cells » table.rows[0]
4 heading _celis[@].text =
10 heading cells[1].text =
1 heading cells[2] . text =

.cells
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item in items:

cells = table.sdd_row().cells
cellsfe].text =« item{Q]

cells{l].text » itew{1]

rgboumsstr{’ (102x) ' . format(item[3]))+str(

M for

shading el « parse_sml({( <mishd {} wifille\" "+rghouss }.format(nsdecis(
cells{1]._tc.get_or_add_tcPr().2ppend(shading els)

: cells{2].text « itew[2]
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44 for cell in table.colusns[@8].cells:

2z cell.width = Ce{3.0)

47 for cell in table.columns[1].cells:

43 cell.width - C=f2.8)

cell in table.coluens[2)].cells:
cell.width = Ca({7.0)

10X) ' Forset(item[a]))+str( ' {1 02x)
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phys writer =
PhysPkguriter(pkg file)
File 1 e
, line y in
intt

format(ites[s]))

) sei?._:iyi « ZipFile(pkg file, 'w',

coapressionsIIP _DEFLATED)
File "D:\&naconda3\lib\zipfile.py”,
Iine 1288, in _ dnit__
self.fp « Lo.open(file, filescce)
PereissicnError: [Errnn 13] Perwission
denied: '#2.docx’
In [34]:

In [34]: runfile('D
xtadle.py', wdlr="0:

In [35]:
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